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Division/Multiplication )

Name Class Date
a If 840 + 20 = 42, which equation e If9x3=27,
must also be true? . then we know
o
A 20 + 42 = 840 +
B42x20=840 1 =
C 42 x 42 =840 -!‘:,p
D 42 + 20 = 840 B
e If 74 x 13 = 962, which equation must o If we know that 46 X 15 = 690, which
also be true? equation is not true?
A 962-13=74 A 46 - 15 =690
R 74 v 74 — OR? R _RON - 15 — 4R ~

PREVIEW
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C 36 x 36 = 648
D 36 + 18 = 648

T

@ If we kriow that 28 x 14 = 392, which
equation is not true?

A 28 x 28 = 392
B 14 x28 =392
C 392 +28=14
D 392 +14=28

If 45 = 9 = 5, then we know

9k 5= { Qg
A4 g |
B 14 :

c9
D 45
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must also be true? "
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A 20 + 42 =840
B 42 x 20 = 840
C 42 x 42 =840
D 42 =20 =840
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If9x3=27,
then we know

If 74 x 13 = 962, which equation must

also be true?
Z——>

A 962-13=74

If we know that 46 X 15 = 690, which
equation is not true?

R 74 v 74 — QR?2
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A 46 + 15 =690
R 00 - 15 — 4R @
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C 36 x 36 = 648
D 36 + 18 = 648

v

If we know that 28 x 14 = 392, which
equation is not true?

A 28 x 28 = 392 -
B 14 x28 =392 @
C 392 +28=14

D 392 +14=28

If 45 = 9 = 5, then we know

9k 5= { Qg
A4 g |
B 14 :

c9
D 45

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for

non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


https://NewPathWorksheets.com/#login
https://NewPathWorksheets.com/membership

